
Subject: Re: Tree structure
Posted by htManager on Mon, 01 Jun 2015 15:32:46 GMT
View Forum Message <> Reply to Message

What is the best transaction pattern to insert many nodes into another table?

I have a table where I can show with tree2 pattern the structure and above all the seats of a
sportstadiom. Now I want insert all the (300-400) seats of the stadiom into a table where I want to
print tickets for the games.

Both tables have composed primary keys. The primary key of the 'nodes' table is part of the
primary key of the 'ticket' table. But the primary key of the 'ticket' table exists also of three more
coloums. If I want to generate a popup (list2 or tree2) I get an error message that the tables are
not related. I think this is because of the additional primary key components of the 'ticket' table.

Have you an idea and can you give me a hint which transaction pattern I can use?

Page 1 of 1 ---- Generated from Radicore Forum

index.php?t=usrinfo&id=1341
index.php?t=rview&th=1197&goto=4757#msg_4757
index.php?t=post&reply_to=4757
index.php

